EARAROBEEIERT — 2 N— IBISH —F

201353A25H (A) 19mAF#2H

Z%R— xg] 8 | [BEes - 1200M
R > %2—# C2+tN EEDEEE S () 12000 B
[A&4] 1 7% :1,000,000  ~ 23 :300,000 . 33:180,000  ~ 4 #:120,000 @ .~ 5 7 :100,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. RER 4. — . — BAME (/)
1 o| b=t>I +T—I i 5 80 1(1_4)5 &9 8.9 ! (5_134) B)1Rea
:Street Cry B:JVU—->L7« H—L—-Jv/X> - T7—LARS
= o = EHEC 14, - . = JEFEH (/)\HEK)
1lsl7| 72T 3 as 4 8.0 1(1_4)5 6% %2 2 (?12) FERA
L:vA4xN7T B:HI571—X K R kE
D 2 4 o4 | BEY 1:14.5 3-3 38.4| — 1 478 | FBARIE (/)
3lgl1a| T—A b1 T73 5.0 Y E) © () SRS
:772UI7 B:A-J FrTa— ke
L= 5 44 | B 1:15.0 9-7 38.4| — 3 429 | AEE@E= (KH)
s N 3| ¥V T TIL— 56.0 @ 1/2) o | @ prF-L-vy
R:T7NTIT B:ILASTTIL— J =Y Ty —L
2 3. o4 | IR 1:15.1 2-2 39.2 — 4 456 | RITIR (KH)
5/8[13| 7L—F¥ 3 b 56.0 (1/9) o) | LTH—
RTwINEry b BT LY LT b RS
S — S= o FOEER :15. - . — HREEAL (KFF)
6 5 S =—/NO> 4 6 e 1(31/54)2 9-10 38.6 1 (4+729) P
LRy —NN— BRI RT—% it daes)
B i 5 | Ak 1:15.2 1-1 39.7| — 8 466 | FERE (1)
717112/ 2 V7 54.0 (F4<) (-5) | EFI—EB
LNAFTRE— BAXTLRAb—1)— ZH EC
= = FEZ : = — HEakz (K#)
gl1l1|F32x7227> 44 aeE 1(.11/52.)3 13-12 | 38.5 10 (4:379) i
L:d—H4 B:N—-NFTHLF> BRI LK
o . SHER :15. - . - BEARE (KFH)
N : MMACEZUEA R ) [ S A s e (B
R:T5v78%3—FK B:3XT7—-F+> BERFEKS
= no 5 s 7 | EAEER 1:15.5 5-6 39.2| — 9 469 | EEFE (/i)
oo 71— 77 5.0 3/4) Gy | TroarEvas
R:TLFFE2T1 B:SAIU—FT1F (B) #HAEA-FKL—va>AET7
) A o4 | REFA 1:15.8 4-3 39.7| — 6 451 | BIE=EB (K3H)
1zl #Y7r= 56.0 1 1/2) (1) | BAIEER
LY LTAN— b B:E Y Te— I RO
o\ v— K ft 5 | RBXHE 1:16.1 6-7 39.8| — 5 468 | EEEX (KFH)
12 6|/ NIN=KU— 54.0 (1 1/2) () |EUbEE (F)
R:8yTELRSF— B3/ YRIS—TI BREFAS
B4 | PIEFIH 1:16.5 12-13 [ 39.7| — 13 | 426 |3BITIZ (k)
13/ 5| 8 | TFLZX 540 ) (vg) | MEEEL
R:gZ/¥LLy b B:FLZa95> FEHIS
LR 5 | BHE— 1:16.5 8-11 401 — 14 | 444 |BRFEA (K3H)
EE g| 7L~ RS- 5.0 (7E) Lo | B F=—2E
L:2=/xLlLy b BiNCE-—% TREFHS
® 1—F—@EBIERL
13—7-—
20—F—
33—+— |12,13,14,11,10,(6,7),9,(2,3,5),8,1,4
43—74— |12,13,(11,14),7,10,(3,6),2,5,9,1,8,4
[ N5
BB 2 7108 | | 714 K 2-7 1,530 | | # = 2-5 3,600 | | 3ER 2-7-14 6,320
7 240M 2-14 1,190H e B 2= 4,240H 3EE 2-7-14 21,260
8 B 2 370 7-14 560 5-2 3,150 7-2-14 16,450
7 1909 B & 2-7 3,220
14 190M4 B 2-7 4,040
7-2 2,870M

ABICOVWTRDTEEERROODE. TR LIV,




